Article

# Extended Curvatures and Lie Algebroids 

Marcela Popescu ${ }^{1, *, t}$ and Paul Popescu ${ }^{1,2, *, 4(\mathbb{D})}$<br>1 Department of Applied Mathematics, University of Craiova, 200585 Craiova, Romania<br>2 Doctoral School of Faculty of Applied Sciences, Politehnica University of Bucharest, 060042 Bucharest, Romania<br>* Correspondence: marcela.popescu@edu.ucv.ro (M.P.); paul.popescu@edu.ucv.ro (P.P.)<br>$\dagger$ These authors contributed equally to this work.

Citation: Popescu, M.; Popescu, P. Extended Curvatures and Lie Algebroids. Symmetry 2022, 14, 1375.
https://doi.org/10.3390/ sym14071375

Academic Editor: Ioan Rasa

Received: 18 May 2022
Accepted: 28 June 2022
Published: 4 July 2022
Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.


Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).


#### Abstract

The aim of the paper is to find conditions in which the derived almost Lie vector bundle $E^{(1)}$ of an almost Lie vector bundle $E$ is a Lie algebroid. The conditions are that some extended curvatures on $E$, considered in the paper, are vanishing. Two non-trivial examples are given. One example is when $E_{0}$ is a skew symmetric algebroid; the other one is when $E_{1}$ is not a skew symmetric algebroid.


Keywords: almost Lie vector bundle; skew symmetric algebroid; Jacobiator; Lie algebroid
MSC: 53D17; 53C05; 58A99; 93B27

## 1. Introduction

The Lie algebroids [1-4] are a good setting to consider some generalizations or extensions of classical constructions and notions from differential geometry, mechanics, physics, etc. Some less restrictive conditions in the definition of a Lie algebroid are studied under different names and using different forms (see [5] for an up-to-date review). Non-skew symmetric brackets can be involved, as in [6] or [7] and the references therein. In the present paper, we consider only skew symmetric brackets (as in [8-10]). Complex and/or Poisson geometry can be involved, as in [11]. An algebraic setting is studied in [12]. The Banach space setting is studied in [13-16].

Anchored vector bundles are considered in [17], where they are called relative tangent spaces; an associated skew symmetric bracket gives rise to an almost Lie vector bundle, called an almost Lie structure in [18-20]. In [19], it is proven that the anchor and bracket couple is in a one-to-one correspondence with a one-degree derivation of the exterior algebra of the given vector bundle. The Jacobiator of the bracket is linear only for skew symmetric algebroids, when the anchor compatibility of the brackets holds (see 3 of Proposition 1). The vanishing Jacobiator defines a Lie algebroid.

The first derived almost Lie vector bundle of a given almost Lie vector bundle is considered in [18], and it plays an important role in the present paper. A linear $E$-connection $\nabla$ having a null torsion is used in the background. We define two extended curvatures of $\nabla$ and we prove that if both these two extended curvatures vanish, then the derived almost Lie vector bundle $E^{(1)}$ is a Lie algebroid (the main Theorem 1).

In [10], we have considered an example of a skew symmetric algebroid $E_{0}$ whose anchor does not have a skew symmetric bracket with a vanishing Jacobiator, i.e., the anchor does not allow a Lie algebroid structure, but the derived almost Lie vector bundle $E_{0}^{(1)}$ is a Lie algebroid. The calculations to settle this example are direct, but too long and only stated in the paper, without an effective proof. In the present paper, we give a different effective proof of this result, also extending the case $n=2$ to an arbitrary $n \geq 2$.

Two examples when Theorem 1 applies (involving the existence of two vanishing extended curvatures) are given. One example is when $E_{0}$ is a skew symmetric algebroid (the above mentioned example) and the other one is when $E_{1}$ is not a skew symmetric algebroid.

## 2. Almost Lie Vector Bundles and Skew Symmetric Algebroids

Let $\pi_{E}: E \rightarrow M$ be a (smooth) vector bundle and $\pi_{T M}: T M \rightarrow M$ be the tangent vector bundle of $M$, considering smooth structures on $M$ and $E$. Let $\mathcal{F}(M)$ be the real algebra of smooth real functions on $M$.

If $\rho: E \rightarrow T M($ or $\rho: \Gamma(E) \rightarrow \Gamma(T M) \stackrel{\text { not. }}{=} \mathcal{X}(M)$ ) is a vector bundle map, called an anchor, then $(E, \rho)$ is called an anchored vector bundle.

A skew symmetric bracket on the anchored vector bundle $(E, \rho)$ is a map

$$
[\cdot, \cdot]_{E}: \Gamma(E) \times \Gamma(E) \stackrel{\text { not. }}{=} \Gamma(E)^{2} \rightarrow \Gamma(E)
$$

that fulfills the conditions

$$
[Y, X]_{E}=-[X, Y]_{E}
$$

and

$$
[X, f Y]_{E}=\rho(X)(f) Y+f[X, Y]_{E},(\forall) X, Y, Z \in \Gamma(E),(\forall) f \in \mathcal{F}(M)
$$

An almost Lie vector bundle is a triple $\left(E, \rho,[\cdot, \cdot]_{E}\right)$ (or only $E$, when no confusion is possible).

Consider the maps

$$
\mathcal{D}: \Gamma(E)^{2} \rightarrow \mathcal{X}(M), \mathcal{D}(X, Y)=[\rho(X), \rho(Y)]-\rho\left([X, Y]_{E}\right)
$$

and

$$
\mathcal{J}_{E}: \Gamma(E)^{3} \rightarrow \Gamma(E), \mathcal{J}_{E}(X, Y, Z)=\sum_{\text {circ }}\left[X,[Y, Z]_{E}\right]_{E} .
$$

As usual (see, for example, [21]), $\mathcal{J}_{E}$ is called the Jacobiator map of the bracket $[\cdot, \cdot]_{E}$.
We notice that, in general, on an almost Lie vector bundle $E, \mathcal{D}$ is $\mathcal{F}(M)$-linear in all its arguments, while $\mathcal{J}_{E}$ is not.

If the compatibility condition $\mathcal{D}=0$ holds, then $E$ is called a skew symmetric algebroid.
A skew symmetric algebroid is a Lie algebroid if the Jacobiator of the bracket vanishes.
All these properties can be summarized as follows. The proofs are straightforward and follow by direct computation.

Proposition 1. Let E be an almost Lie vector bundle with a skew-symmetric bracket. Then, the following statements hold true:

1. The map $\mathcal{D}$ is $\mathcal{F}(M)$-bilinear and skew symmetric;
2. The map $\mathcal{J}_{E}$ is skew symmetric, $\mathcal{J}_{E}(X, Y, f Z)=\mathcal{D}(X, Y)(f) Z+f \mathcal{J}_{E}(X, Y, Z),(\forall) f \in$ $\mathcal{F}(M)$, and $X, Y, Z \in \Gamma(E)$;
3. The map $\mathcal{J}_{E}$ is $\mathcal{F}(M)$-linear in all its arguments if $E$ is a skew symmetric algebroid;
4. The map $\mathcal{J}_{E}$ vanishes if $E$ is a Lie algebroid.

In particular, for skew symmetric algebroids, we obtain the following.
Proposition 2. For an almost Lie vector bundle E with a skew-symmetric bracket, the following conditions are equivalent:

1. $E$ is a skew symmetric algebroid;
2. $\mathcal{D}=0$;
3. $\mathcal{J}_{E}$ is $\mathcal{F}(M)$-linear in all its arguments.

The Jacobiator $\mathcal{J}_{E}$ vanishes if $E$ is a Lie algebroid.
An interpretation of $\mathcal{D}$ is that it can be seen as an anchor $\rho^{\wedge}: E \wedge E \rightarrow T M$,

$$
\rho^{\wedge}(X \wedge Y)=\mathcal{D}(X, Y)
$$

Here, $E \wedge E$ denotes the exterior product bundle of $E$ (i.e., the exterior product on each fiber).

Now consider an almost Lie vector bundle $E$ and let $\pi_{A}: A \rightarrow M$ be a vector bundle over the same base $M$. A linear E-connection on $A$ is a map $\nabla: \Gamma(E) \times \Gamma(A) \rightarrow \Gamma(A)$ that verifies Koszul conditions:

$$
\begin{aligned}
\nabla_{f X} s & =f \nabla_{X} s, \nabla_{\left(X+X^{\prime}\right)} s=\nabla_{X} s+\nabla_{X^{\prime}} s \\
\nabla_{X}(f s) & =\rho(X)(f) s+f \nabla_{X} s, \nabla_{X}\left(s+s^{\prime}\right)=\nabla_{X} s+\nabla_{X^{s}} s^{\prime}
\end{aligned}
$$

$(\forall) X, X^{\prime} \in \Gamma(E), s, s^{\prime} \in \Gamma(A), f \in \mathcal{F}(M)$.
The curvature of $\nabla$ is the map $R: \Gamma(E)^{2} \times \Gamma(A) \rightarrow \Gamma(A)$, given by the formula

$$
R(X, Y) s=\nabla_{X} \nabla_{Y} s-\nabla_{Y} \nabla_{X} s-\nabla_{[X, Y]_{E} s,}
$$

$(\forall) X, Y \in \Gamma(E)$ and $s \in \Gamma(A)$.
Proposition 3. Let $E$ be an almost Lie vector bundle and $A$ be a vector bundle over the same base M. If $\nabla$ is a linear E-connection on $A$, then the formula $R_{X \wedge Y} s=R(X, Y) s$ defines a linear $E \wedge E$-connection on $A$, according to the anchor $\rho^{\wedge}$.

Proof. One can check that for a given $s \in \Gamma(A),(X, Y) \rightarrow R(X, Y) s$ is $\mathcal{F}(M)$-linear in both arguments.

However, for given $X, Y \in \Gamma(E)$, the map $s \rightarrow R_{X \wedge Y}$ is additive, and for $f \in \mathcal{F}(M)$ we have
$R_{X \wedge Y}(f s)=R(X, Y)(f s)=\mathcal{D}(X, Y)(f) s+f R(X, Y) s=\rho^{\wedge}(X \wedge Y)(f) s+f R_{X \wedge Y} s$.
This implies the conclusion.
In the particular case of an $E$-connection $\nabla$ on $E$, we can consider its torsion

$$
T: \Gamma(E)^{2} \rightarrow \Gamma(E)
$$

given by the formula

$$
T(X, Y)=\nabla_{X} Y-\nabla_{Y} X-[X, Y]_{E}
$$

and its curvature $R: \Gamma(E)^{3} \rightarrow \Gamma(E)$,

$$
R(X, Y) Z=\nabla_{X} \nabla_{Y} Z-\nabla_{Y} \nabla_{X} Z-\nabla_{[X, Y]_{E}} Z \stackrel{\text { not. }}{=} \nabla_{X \wedge Y} Z,
$$

$(\forall) X, Y, Z \in \Gamma(E)$. The last notation above defines a linear $E \wedge E$-connection $\nabla^{\wedge}$ on $E$, according to the anchor $\rho^{\wedge}$. The formula

$$
\nabla_{X \wedge Y}^{(\wedge)}(Z \wedge W)=\nabla_{X \wedge Y} Z \wedge W+Z \wedge \nabla_{X \wedge Y} W \stackrel{\text { not. }}{=} \nabla_{X \wedge Y}(Z \wedge W)
$$

defines a linear $E \wedge E$-connection $\nabla^{(\wedge)}$ on $E \wedge E$, according to the anchor $\rho^{\wedge}$.
Notice that when the torsion vanishes, then

$$
\begin{equation*}
[X, Y]_{E}=\nabla_{X} Y-\nabla_{Y} X \tag{1}
\end{equation*}
$$

If the $E$-connection $\nabla$ is given, then the above Formula (1) defines the bracket $[\cdot, \cdot]_{E}$ on $E$, such that $\nabla$ has a null torsion.

## 3. The Derived Almost LIE Vector Bundle

Let $E$ be an almost Lie vector bundle and $\nabla$ be an $E$-connection on $E$ that has a null torsion.

We can consider on the vector bundle $E^{(1)}=E \oplus(E \wedge E)$ the anchor given by

$$
\rho^{(1)}(X+(Y \wedge Z))=\rho(X)+\rho^{\wedge}(Y \wedge Z)
$$

and the $E^{(1)}$-connection $\nabla^{(1)}$ on $E^{(1)}$, according to the formulas

$$
\begin{align*}
\nabla_{X}^{(1)} Y & =\nabla_{X} Y+\frac{1}{2} X \wedge Y, \nabla_{X}^{(1)}(Y \wedge Z)=\nabla_{X}(Y \wedge Z)=\nabla_{X} Y \wedge Z+Y \wedge \nabla_{X} Z  \tag{2}\\
\nabla_{X \wedge Y}^{(1)} Z & =\nabla_{X \wedge Y} Z, \nabla_{X \wedge Y}^{(1)}(Z \wedge T)=\nabla_{X \wedge Y}(Z \wedge T)
\end{align*}
$$

The formula

$$
[U, V]_{E^{(1)}}=\nabla_{U}^{(1)} V-\nabla_{V}^{(1)} U
$$

gives a bracket on $E^{(1)}$ according to the anchor $\rho^{(1)}$. More precisely, the bracket on $E^{(1)}$ is given by the formulas

$$
\begin{align*}
{[X, Y]_{E^{(1)}} } & =[X, Y]_{E}+X \wedge Y \\
{[X \wedge Y, Z]_{E^{(1)}} } & =\nabla_{X \wedge Y} Z-\nabla_{Z}(X \wedge Y)  \tag{3}\\
{[X \wedge Y, Z \wedge T]_{E^{(1)}} } & =\nabla_{X \wedge Y}(Z \wedge T)-\nabla_{Z \wedge T}(X \wedge Y) .
\end{align*}
$$

We call the almost Lie vector bundle $\left(E^{(1)}, \rho^{(1)},[\cdot, \cdot]_{E^{(1)}}\right)$ the (first) derived almost Lie vector bundle of $\left(E, \rho,[\cdot, \cdot]_{E}\right)$, given by $\nabla$.

Proposition 4. If the linear E-connection $\nabla$ on the almost Lie vector bundle E has no torsion, then the following properties hold true:

1. $\mathcal{D}^{(1)}(X, Y)=\left[\rho^{(1)}(X), \rho^{(1)}(Y)\right]-\rho^{(1)}\left([X, Y]_{\theta^{(1)}}\right)=0,(\forall) X, Y \in \Gamma(E)$;
2. $\mathcal{J}^{(1)}(X, Y, Z)=0,(\forall) X, Y, Z \in \Gamma(E)$, where $\mathcal{J}^{(1)}$ denotes the Jacobiator of $[\cdot, \cdot]_{E^{(1)}}$.

Proof. In order to prove 1, we have:
$\left[\rho^{(1)}(X), \rho^{(1)}(Y)\right]=[\rho(X), \rho(Y)]=\rho\left([X, Y]_{E}\right)+\mathcal{D}(X, Y)=\rho\left([X, Y]_{E}\right)+\rho^{\wedge}(X \wedge Y)=$ $\rho^{(1)}\left([X, Y]_{E}+X \wedge Y\right)=\rho^{(1)}\left([X, Y]_{E^{(1)}}\right)$.

In order to prove the second equality, we have:
$\left[X,[Y, Z]_{E^{(1)}}\right]_{E^{(1)}}=\left[X,[Y, Z]_{E}+Y \wedge Z\right]_{E^{(1)}}=$
$\left[X,[Y, Z]_{E}\right]_{E}+X \wedge[Y, Z]_{E}+\nabla_{X}(Y \wedge Z)-\nabla_{Y \wedge Z} X=$
$\nabla_{X}[Y, Z]_{E}-\nabla_{[Y, Z]_{E}} X+X \wedge\left(\nabla_{Y} Z-\nabla_{Z} Y\right)+$
$\nabla_{X}(Y \wedge Z)-\left(\nabla_{Y} \nabla_{Z} X-\nabla_{Z} \nabla_{Y} X-\nabla_{[Y, Z]_{E}} X\right)=$
$\nabla_{X}\left(\nabla_{Y} Z-\nabla_{Z} Y\right)+X \wedge\left(\nabla_{Y} Z-\nabla_{Z} Y\right)+\nabla_{X}(Y \wedge Z)-\left(\nabla_{Y} \nabla_{Z} X-\nabla_{Z} \nabla_{Y} X\right)=$
$\nabla_{X}\left(\nabla_{Y} Z-\nabla_{Z} Y\right)-\nabla_{[Y, Z]_{E}} X+X \wedge\left(\nabla_{Y} Z-\nabla_{Z} Y\right)+\nabla_{X}(Y \wedge Z)-\nabla_{Y \wedge Z} X=$
$\nabla_{X} \nabla_{Y} Z-\nabla_{X} \nabla_{Z} Y-\nabla_{Y} \nabla_{Z} X+\nabla_{Z} \nabla_{Y} X+$
$X \wedge \nabla_{Y} Z-X \wedge \nabla_{Z} Y-Z \wedge \nabla_{X} Y+Y \wedge \nabla_{X} Z$.
Considering the analogous expressions for $\left[Y,[Z, X]_{E^{(1)}}\right]_{E^{(1)}}$ and $\left[Z,[X, Y]_{E^{(1)}}\right]_{E^{(1)}}$, by summing, we obtain the second equality.

Besides the vanishing components, the Jacobiator on $E^{(1)}$ has other components that can be handled using two other curvatures involving $\nabla$, which we define in the sequel.

Thus, let us consider

$$
\begin{aligned}
& R(X, Z \wedge W) Y \stackrel{\text { def. }}{=} \nabla_{X} \nabla_{Z \wedge W} Y-\nabla_{Z \wedge W} \nabla_{X} Y-\nabla_{\nabla_{X}(Z \wedge W)} Y+\nabla_{\nabla_{Z \wedge W} X} Y \\
& R(Z \wedge W, X) Y \stackrel{\text { def. }}{=}-R(X, Z \wedge W) Y
\end{aligned}
$$

and

$$
\begin{aligned}
& R(X \wedge Y, Z \wedge W) U \stackrel{\text { def. }}{=} \nabla_{X \wedge Y} \nabla_{Z \wedge W} U-\nabla_{Z \wedge W} \nabla_{X \wedge Y} U- \\
& \nabla_{\nabla_{X \wedge Y}(Z \wedge W)} U+\nabla_{\nabla_{Z \wedge W}(X \wedge Y)} U .
\end{aligned}
$$

We call

$$
(X, Y, Z, W) \rightarrow R(X, Z \wedge W) Y
$$

and

$$
(X, Y, Z, W, U) \rightarrow R(X \wedge Y, Z \wedge W) U
$$

the extended curvatures of $\nabla$ (the first extended curvature and the second extended curvature, respectively).

If $f \in \mathcal{F}(M)$ and $X, Y, Z, W, U \in \Gamma(E)$, then we have

$$
\begin{align*}
f(X \wedge Y) & =f X \wedge Y=X \wedge(f Y) \\
R(X, Z \wedge W) Y & =-R(Z \wedge W, X) Y \\
R(f X, Z \wedge W) Y & =R(X, f(Z \wedge W)) Y=f R(X, Z \wedge W) Y \\
R(X, Z \wedge W)(f Y) & =\mathcal{D}^{(1)}(X, Z \wedge W)(f) Y+f R(X, Z \wedge W) Y \tag{4}
\end{align*}
$$

and also

$$
\begin{align*}
R(f X \wedge Y, Z \wedge W) U & =R(X \wedge Y, f Z \wedge W) U=f R(X \wedge Y, Z \wedge W) U \\
R(X \wedge Y, Z \wedge W)(f U) & =\mathcal{D}^{(1)}(X \wedge Y, Z \wedge W)(f) U+f R(X \wedge, Z \wedge W) U \tag{5}
\end{align*}
$$

Notice that, according to their properties, we can consider

$$
\begin{aligned}
& R(X, Z \wedge W)(Y \wedge U) \stackrel{\text { def. }}{=} R(X, Z \wedge W) Y \wedge U+Y \wedge R(X, Z \wedge W) U \\
& R(X \wedge Y, Z \wedge W)(U \wedge V) \stackrel{\text { def. }}{=} R(X \wedge Y, Z \wedge W) U \wedge V+ \\
& U \wedge R(X \wedge Y, Z \wedge W) V
\end{aligned}
$$

Proposition 5. Let $E$ be an almost Lie vector bundle. If $X, Y, Z, W, U, V \in \Gamma(E)$, then

$$
\begin{aligned}
\mathcal{J}^{(1)}(X, Y, Z \wedge W)= & R(Y, Z \wedge W) X-R(X, Z \wedge W) Y \\
\mathcal{J}^{(1)}(U, X \wedge Y, Z \wedge W)= & R(U, X \wedge Y)(Z \wedge W)- \\
& R(U, Z \wedge W)(X \wedge Y)+ \\
& R(X \wedge Y, Z \wedge W) U, \\
\mathcal{J}^{(1)}(X \wedge Y, Z \wedge W, U \wedge V)= & R(X \wedge Y, Z \wedge W)(U \wedge V)+ \\
& R(Z \wedge W, U \wedge V)(X \wedge Y)+ \\
& R(U \wedge V, X \wedge Y)(Z \wedge W) .
\end{aligned}
$$

Proof. We prove only the first two relations, since the third relation can be proved analogously. We have

$$
\begin{aligned}
& \mathcal{J}^{(1)}(X, Y, Z \wedge W)= \\
& {\left[X,[Y, Z \wedge W]^{(1)}\right]^{(1)}+\left[Y,[Z \wedge W, X]^{(1)}\right]^{(1)}+\left[Z \wedge W,[X, Y]^{(1)}\right]^{(1)}=} \\
& {\left[X, \nabla_{Y}(Z \wedge W)\right]^{(1)}-\left[X, \nabla_{Z \wedge W} Y\right]^{(1)}+\left[Y, \nabla_{Z \wedge W} X-\nabla_{X}(Z \wedge W)\right]^{(1)}+} \\
& {\left[Z \wedge W^{\prime}[X, Y]+X \wedge Y\right]^{(1)}=} \\
& \nabla_{X} \nabla_{Y}(Z \wedge W)-\nabla_{\nabla_{Y}(Z \wedge W)} X-\nabla_{X} \nabla_{Z \wedge W} Y+\nabla_{\nabla_{Z \wedge W} Y} X+X \wedge \nabla_{Z \wedge W} Y+ \\
& \nabla_{Y} \nabla_{Z \wedge W} X-\nabla_{\nabla_{Z \wedge W} X+Y \wedge} Y Z \nabla_{Z \wedge W} X-\nabla_{Y} \nabla_{X}(Z \wedge W)+\nabla_{\nabla_{X}(Z \wedge W)} Y+ \\
& \nabla_{Z \wedge W}\left(\nabla_{X} Y-\nabla_{Y} X\right)-\nabla_{[X, Y]}(Z \wedge W)+\nabla_{Z \wedge W}(X \wedge Y)-\nabla_{X \wedge Y}(Z \wedge W)= \\
& \left(\nabla_{X} \nabla_{Y}(Z \wedge W)-\nabla_{Y} \nabla_{X}(Z \wedge W)-\nabla_{[X, Y]}(Z \wedge W)\right)+
\end{aligned}
$$

```
\(\left(\nabla_{Y} \nabla_{Z \wedge W} X-\nabla_{Z \wedge W} \nabla_{Y} X-\nabla_{\nabla_{Z \wedge W} Y} X+\nabla_{\nabla_{Y}(Z \wedge W)} X\right)-\)
\(\left(\nabla_{X} \nabla_{Z \wedge W} Y-\nabla_{Z \wedge W} \nabla_{X} Y-\nabla_{\nabla_{X}(Z \wedge W)} Y+\nabla_{\nabla_{Z \wedge W} X} Y\right)-\nabla_{X \wedge Y}(Z \wedge W)=\)
\(R(Y, Z \wedge W) X-R(X, Z \wedge W) Y\).
Also
\(\mathcal{J}^{(1)}(U, X \wedge Y, Z \wedge W)=\left[U,[X \wedge Y, Z \wedge W]^{(1)}\right]^{(1)}+\)
\(\left[X \wedge Y,[Z \wedge W, U]^{(1)}\right]^{(1)}+\left[Z \wedge W,[U, X \wedge Y]^{(1)}\right]^{(1)}=\)
\(\left[U, \nabla_{X \wedge Y}(Z \wedge W)-\nabla_{Z \wedge W}(X \wedge Y)\right]^{(1)}+\left[X \wedge Y, \nabla_{Z \wedge W} U-\nabla_{U}(Z \wedge W)\right]^{(1)}+\)
\(\left[Z \wedge W, \nabla_{U}(X \wedge Y)-\nabla_{X \wedge Y} U\right]^{(1)}=\)
\(\nabla_{U} \nabla_{X \wedge Y}(Z \wedge W)-\nabla_{\nabla_{X \wedge Y}(Z \wedge W)} U-\nabla_{U} \nabla_{Z \wedge W}(X \wedge Y)+\nabla_{\nabla_{Z \wedge W}(X \wedge Y)} U+\)
\(\left.\nabla_{X \wedge Y} \nabla_{Z \wedge W} U-\nabla_{Z \wedge W} U(X \wedge Y)-\nabla_{X \wedge Y} \nabla_{U}(Z \wedge W)+\nabla_{\nabla_{U}}(Z \wedge W)\right](X \wedge Y)+\)
\(\nabla_{Z \wedge W} \nabla_{U}(X \wedge Y)-\nabla_{\nabla_{U}(X \wedge Y)}(Z \wedge W)-\nabla_{Z \wedge W} \nabla_{X \wedge Y} U-\nabla_{\nabla_{X \wedge Y} U}(Z \wedge W)=\)
\(R(U, X \wedge Y)(Z \wedge W)-R(U, Z \wedge W)(X \wedge Y)+R(X \wedge Y, Z \wedge W) U\).
```

Using Proposition 2 for $E^{(1)}$, we obtain the following true statement.
Proposition 6. Let $E$ be an almost Lie vector bundle. Then, the following conditions are equivalent:

1. $E^{(1)}$ is a skew symmetric algebroid;
2. $\mathcal{D}^{(1)}=0$;
3. $\mathcal{J}^{(1)}$ is an $\mathcal{F}(M)$-linear form.

The map $\mathcal{J}^{(1)}$ vanishes if $\left(E^{(1)}, \rho^{(1)},[\cdot, \cdot]_{E^{(1)}}\right)$ is a Lie algebroid.
More exactly, Condition 2 can be read as follows.
Proposition 7. Let $E$ be an almost Lie vector bundle. The condition that $E^{(1)}$ be a skew symmetric algebroid is expressed by the relations

$$
\begin{align*}
{[\rho(X), \mathcal{D}(Z, W)]-\mathcal{D}\left(\nabla_{X}(Z \wedge W)\right)+\rho\left(\nabla_{Z \wedge W} X\right) } & =0  \tag{6}\\
{[\mathcal{D}(X, Y), \mathcal{D}(Z, W)]-\mathcal{D}\left(\nabla_{X \wedge Y}(Z \wedge W)-\nabla_{Z \wedge W}(X \wedge Y)\right) } & =0 \tag{7}
\end{align*}
$$

Proof. Using 1 of Proposition 4, it follows that the condition $\mathcal{D}^{(1)}=0$ reads $\mathcal{D}^{(1)}(X, Z \wedge W)$ $=\mathcal{D}^{(1)}(X \wedge Y, Z \wedge W)=0$, where

$$
\begin{aligned}
& \mathcal{D}^{(1)}(X, Z \wedge W)=\left[\rho^{(1)}(X), \rho^{(1)}(Z \wedge W)\right]-\rho^{(1)}\left(\nabla_{X}(Z \wedge W)-\nabla_{Z \wedge W} X\right)= \\
& {[\rho(X), \mathcal{D}(Z, W)]-\mathcal{D}\left(\nabla_{X}(Z \wedge W)\right)+\rho\left(\nabla_{Z \wedge W} X\right)} \\
& \mathcal{D}^{(1)}(X \wedge Y, Z \wedge W)=\left[\rho^{(1)}(X \wedge Y), \rho^{(1)}(Z \wedge W)\right]- \\
& \rho^{(1)}\left(\nabla_{X \wedge Y}(Z \wedge W)-\nabla_{Z \wedge W}(X \wedge Y)\right)= \\
& {[\mathcal{D}(X, Y), \mathcal{D}(Z, W)]-\mathcal{D}\left(\nabla_{X \wedge Y}(Z \wedge W)-\nabla_{Z \wedge W}(X \wedge Y)\right) .}
\end{aligned}
$$

The conclusion follows.
In the particular case when $E$ is a skew symmetric algebroid, we obtain the following statement proven in [10] (Proposition 2.5).

Corollary 1. If $E$ is a skew symmetric algebroid, then $E^{(1)}$ is a skew symmetric algebroid if

$$
\rho(R(X, Y) Z)=0 .
$$

Proposition 8. Consider an almost Lie vector bundle E. If $E^{(1)}$ is a skew symmetric algebroid, then both extended curvatures are $\mathcal{F}(M)$-linear in their arguments.

Proof. Using 2 of Proposition 6, it follows that $\mathcal{D}^{(1)}=0$; then, using Formulas (4) and (5), the conclusion follows.

We can prove now the main result of the paper.
Theorem 1. Let $E$ be an almost Lie vector bundle. If $E^{(1)}$ is a skew symmetric algebroid and both its extended curvatures vanish, then $E^{(1)}$ is a Lie algebroid.

Proof. Using Proposition 8, it follows that the extended curvatures are $\mathcal{F}(M)$-linear in all arguments; thus, the vanishing conditions have sense. Moreover, using 2 of Proposition 4 and Proposition 5, we have $\mathcal{J}^{(1)}=0$; thus, the conclusion follows.

Effectively, the conditions in the hypothesis of the above theorem are expressed by Relations (6) and (7), and

$$
\begin{equation*}
R(X, Z \wedge W) Y=R(X \wedge Y, Z \wedge W) U=0 \tag{8}
\end{equation*}
$$

## 4. Some Examples

We consider below two relevant examples.
In the first example, we consider a skew-symmetric algebroid $E_{0}$ on $\mathbb{R}^{n}$ that is not a Lie algebroid, and we prove that its derived almost Lie vector bundle $E_{0}^{(1)}$ is a Lie algebroid. It is an extension of an example in [10], where the case $n=2$ is considered and where it is proven that in this case, there is no algebroid Lie bracket associated with the anchor [10] (Theorem 2.3).

In the second example, we consider an almost Lie vector bundle $E_{1}$ that is not a skew symmetric algebroid, but its derived almost Lie vector bundle $E_{1}^{(1)}$ is a Lie algebroid.

We proceed now with the first example. Let us consider the vector bundle $E_{0}=$ $\mathbb{R}^{n} \times \mathcal{M}_{n}(\mathbb{R}) \rightarrow \mathbb{R}^{n}$ on the base manifold $M=\mathbb{R}^{n}$, where $\mathcal{M}_{n}(\mathbb{R})$ is the set of square $n$-matrices with real entries. The anchor $\rho$ on $E_{0}$ is defined as follows. In every point $\bar{x}=\left(x^{1}, \ldots, x^{n}\right)$,

$$
\begin{equation*}
\rho\left(X_{i}^{j}\right)=\left(x^{j}\right)^{2} \frac{\partial}{\partial x^{j}} . \tag{9}
\end{equation*}
$$

It is easy to see that the image by $\rho$ of the sections of $E_{0}$ generates the whole tangent space $T_{\bar{x}} \mathbb{R}^{n}$ for $\bar{x} \neq \overline{0}$ and $\{\overline{0}\} \subset T_{\overline{0}} \mathbb{R}^{n}$ for $\bar{x}=\overline{0}=(0, \ldots, 0)$. A section on $E_{0}$ is in $\operatorname{ker} \rho$ if it is an $\mathcal{F}\left(\mathbb{R}^{n}\right)$-combination of sections $\mathcal{X}_{i j k}=\left(x^{j}\right)^{2} X_{k}^{i}-\left(x^{i}\right)^{2} X_{k^{\prime}}^{j}$ where $1 \leq i<j, k \leq n$. We notice that these $\frac{n^{2}(n-1)}{2}$ sections do not generate a (regular) vector sub-bundle of $E_{0}$.

Associated with the above anchor, we consider the bracket $[\cdot, \cdot]_{E_{0}}$ defined on generators by

$$
\left[X_{j}^{i}, X_{v}^{u}\right]_{E_{0}}=2 x^{u} \delta_{j}^{u} X_{v}^{i}-2 x^{i} \delta_{v}^{i} X_{j}^{u}
$$

and the linear $E_{0}$-connection $\nabla$ on $E_{0}$ defined on generators by

$$
\nabla_{X_{j}^{i}} X_{v}^{u}=2 x^{u} \delta_{j}^{u} X_{v}^{i} .
$$

It is easy to see that $\rho\left(\left[X_{j}^{i}, X_{l}^{k}\right]_{E_{0}}\right)=\left[\rho\left(X_{j}^{i}\right), \rho\left(X_{l}^{k}\right)\right]$; thus, $\left(E_{0}, \rho,[\cdot, \cdot]_{E_{0}}\right)$ is a skew symmetric algebroid.

The curvature of $\nabla$ is linear in all arguments and

$$
\nabla_{X_{j}^{i} \wedge X_{l}^{k}} X_{v}^{u}=2(u, j, l)\left(\left(x^{i}\right)^{2} X_{v}^{k}-\left(x^{k}\right)^{2} X_{v}^{i}\right)=2(u, j, l) X_{k i v}
$$

where $(i, j, k)=\delta_{j}^{i} \delta_{k}^{i}$ and $X_{k i v}=\left(x^{i}\right)^{2} X_{v}^{k}-\left(x^{k}\right)^{2} X_{v}^{i}$.

Since $\rho\left(\nabla_{X_{j}^{i} \wedge X_{l}^{k}} X_{v}^{u}\right)=0$, then, using Corollary 1, it follows that the derived bundle $\left(E_{0}^{(1)}, \rho^{(1)},[\cdot, \cdot]_{E_{0}}^{(1)}\right)$ is a skew symmetric algebroid as well. Using Proposition 8, it follows that the extended curvatures are $\mathcal{F}\left(\mathbb{R}^{n}\right)$-linear in their arguments.

Proposition 9. The Jacobiator of $[\cdot, \cdot]_{E_{0}}$ is

$$
\mathcal{J}_{E_{0}}\left(X_{j}^{i}, X_{l}^{k}, X_{v}^{u}\right)=2(j, u, l) X_{k i v}+2(j, v, k) X_{i u l}+2(i, v, l) X_{u k j} .
$$

Proof. We have

$$
\begin{aligned}
& \mathcal{J}_{E_{0}}\left(X_{j}^{i}, X_{l}^{k}, X_{v}^{u}\right)=\left[X_{j}^{i}\left[X_{l}^{k}, X_{v}^{u}\right]_{E_{0}}\right]_{E_{0}}+\left[X_{l}^{k},\left[X_{v}^{u}, X_{j}^{i}\right]_{E_{0}}\right]_{E_{0}}+\left[X_{v}^{u},\left[X_{j^{i}}^{i}, X_{l}^{k}\right]_{E_{0}}\right]_{E_{0}}= \\
& {\left[X_{j}^{i}, 2 x^{u} \delta_{l}^{u} X_{v}^{k}-2 x^{k} \delta_{v}^{k} X_{l}^{u}\right]_{E_{0}}+\left[X_{l}^{k}, 2 x^{i} \delta_{v}^{i} X_{j}^{u}-2 x^{u} \delta_{j}^{u} X_{v}^{i}\right]_{E_{0}}+\left[X_{v}^{u}, x^{k} \delta_{j}^{k} X_{l}^{i}-2 x^{i} \delta_{l}^{i} X_{j}^{k}\right]_{E_{0}}=} \\
& 2(j, u, l)\left(x^{i}\right)^{2} X_{v}^{k}+2 x^{u} \delta_{l}^{u}\left[X_{j}^{i}, X_{v}^{k}\right]_{E_{0}}-2(j, v, k)\left(x^{i}\right)^{2} X_{l}^{u}+2 x^{k} \delta_{v}^{k}\left[X_{j}^{i}, X_{l}^{u}\right]_{E_{0}}+ \\
& 2(i, v, l)\left(x^{k}\right)^{2} X_{j}^{u}+2 x^{i} \delta_{v}^{i}\left[X_{l}^{k}, X_{j}^{u}\right]_{E_{0}}-2(j, u, l)\left(x^{k}\right)^{2} X_{v}^{i}+2 x^{u} \delta_{j}^{u}\left[X_{l}^{k}, X_{v}^{i}\right]_{E_{0}}+ \\
& 2(j, v, k)\left(x^{u}\right)^{2} X_{l}^{i}+2 x^{k} \delta_{j}^{k}\left[X_{v}^{u}, X_{l}^{i}\right]_{E_{0}}-2(i, v, l)\left(x^{u}\right)^{2} X_{j}^{k}+2 x^{i} \delta_{l}^{i}\left[X_{v}^{u}, X_{j}^{k}\right]_{E_{0}}= \\
& 2(j, u, l)\left(x^{i}\right)^{2} X_{v}^{k}+2 x^{u} \delta_{l}^{u}\left(2 x^{k} \delta_{j}^{k} X_{v}^{i}-2 x^{i} \delta_{v}^{i} X_{j}^{k}\right)_{E_{0}}-2(j, v, k)\left(x^{i}\right)^{2} X_{l}^{u}+ \\
& 2 x^{k} \delta_{v}^{k}\left(2 x^{u} \delta_{j}^{u} X_{l}^{i}-2 x^{i} \delta_{l}^{i} X_{j}^{u}\right)+2(i, v, l)\left(x^{k}\right)^{2} X_{j}^{u}+2 x^{i} \delta_{v}^{i}\left(2 x^{u} \delta_{l}^{u} X_{j}^{k}-2 x^{k} \delta_{j}^{k} X_{l}^{u}\right)- \\
& 2(j, u, l)\left(x^{k}\right)^{2} X_{v}^{i}+2 x^{u} \delta_{j}^{u}\left(2 x^{i} \delta_{l}^{i} X_{v}^{k}-2 x^{k} \delta_{v}^{k} X_{l}^{i}\right)+2(j, v, k)\left(x^{u}\right)^{2} X_{l}^{i}+ \\
& 2 x^{k} \delta_{j}^{k}\left(2 x^{i} \delta_{v}^{i} X_{l}^{u}-2 x^{u} \delta_{l}^{u} X_{v}^{i}\right)-2(i, v, l)\left(x^{u}\right)^{2} X_{j}^{k}+2 x^{i} \delta_{l}^{i}\left(2 x^{k} \delta_{v}^{k} X_{j}^{u}-2 x^{u} \delta_{j}^{u} X_{v}^{k}\right)= \\
& 2(j, u, l)\left(\left(x^{i}\right)^{2} X_{v}^{k}-\left(x^{k}\right)^{2} X_{v}^{i}\right)+2(j, v, k)\left(\left(x^{u}\right)^{2} X_{l}^{i}-\left(x^{i}\right)^{2} X_{l}^{u}\right)+ \\
& 2(i, v, l)\left(\left(x^{k}\right)^{2} X_{j}^{u}-\left(x^{u}\right)^{2} X_{j}^{k}\right)=2(j, u, l) X_{k i v}+2(j, v, k) X_{i u l}+2(i, v, l) X_{u k j} .
\end{aligned}
$$

It follows that $E_{0}$ is not a Lie algebroid.
Lemma 1. For $E_{0}$, both extended curvatures of $\nabla$ vanish.

Proof. We have

$$
\begin{aligned}
& R\left(X_{j}^{i}, X_{l}^{k} \wedge X_{q}^{p}\right) X_{v}^{u}=\nabla_{X_{j}^{i}} \nabla_{X_{l}^{k} \wedge X_{q}^{p}} X_{v}^{u}-\nabla_{X_{l}^{k} \wedge X_{q}^{p}} \nabla_{X_{j}^{i}} X_{v}^{u}-\nabla_{\nabla_{X_{j}^{i}}\left(X_{l}^{k} \wedge X_{q}^{p}\right)-\nabla_{X_{l}^{k} \wedge X_{q}^{p}} X_{j}} X_{v}^{u}= \\
& \nabla_{X_{j}^{i}} 2\left(\delta_{i}^{v} \delta_{q}^{v}\right)\left(\left(x^{k}\right)^{2} X_{u}^{p}-\left(x^{p}\right)^{2} X_{u}^{k}\right)-\nabla_{X_{l}^{k} \wedge X_{q}^{p}}\left(2 x^{u} \delta_{j}^{u} X_{v}^{i}\right)- \\
& \nabla_{2 x^{k} \delta_{j}^{k} X_{l}^{i} \wedge X_{q}^{p}+X_{l}^{k} \wedge\left(2 x^{p} \delta_{j}^{p} X_{q}^{i}\right)} X_{v}^{u}+\nabla\left(\left(\delta_{l}^{i} \delta_{q}^{i}\right) 2\left(\left(x^{k}\right)^{2} X_{j}^{p}-\left(x^{p}\right)^{2} X_{j}^{k}\right)\right) X_{v}^{u}= \\
& 4\left(\delta_{l}^{u} \delta_{q}^{u}\right) x^{k} \delta_{j}^{k}\left(x^{i}\right)^{2} X_{v}^{p}+2\left(\delta_{l}^{u} \delta_{q}^{u}\right)\left(x^{k}\right)^{2} 2 x^{p} \delta_{j}^{p} X_{v}^{i}-4\left(\delta_{l}^{u} \delta_{q}^{u}\right) x^{p} \delta_{j}^{p}\left(x^{i}\right)^{2} X_{v}^{k}- \\
& 2\left(\delta_{l}^{u} \delta_{q}^{u}\right)\left(x^{p}\right)^{2} 2 x^{k} \delta_{j}^{k} X_{v}^{i}-2 x^{u} \delta_{j}^{u} 2\left(\delta_{l}^{i} \delta_{q}^{i}\right)\left(\left(x^{k}\right)^{2} X_{v}^{p}-\left(x^{p}\right)^{2} X_{v}^{k}\right)- \\
& 2 x^{k} \delta_{j}^{k} 2\left(\delta_{l}^{u} \delta_{q}^{u}\right)\left(\left(x^{i}\right)^{2} X_{v}^{p}-\left(x^{p}\right)^{2} X_{v}^{i}\right)-2 x^{p} \delta_{j}^{p} 2\left(\delta_{l}^{u} \delta_{q}^{u}\right)\left(\left(x^{k}\right)^{2} X_{v}^{i}-\left(x^{i}\right)^{2} X_{v}^{k}\right)+ \\
& +2\left(\delta_{l}^{i} \delta_{q}^{j}\right)\left(x^{k}\right)^{2} 2 x^{u} \delta_{j}^{u} X_{v}^{p}-2\left(\delta_{l}^{i} \delta_{q}^{j}\right)\left(x^{p}\right)^{2} 2 x^{p} \delta_{j}^{p} X_{v}^{k}= \\
& (u, l, q) x^{k} \delta_{j}^{k}\left(\left(x^{i}\right)^{2} X_{v}^{p}-\left(x^{p}\right)^{2} X_{v}^{i}\right)+(u, l, q) x^{p} \delta_{j}^{p}\left(\left(x^{k}\right)^{2} X_{v}^{i}-\left(x^{i}\right)^{2} X_{v}^{k}\right)- \\
& (i, l, q) x^{u} \delta_{j}^{u}\left(\left(x^{k}\right)^{2} X_{v}^{p}-\left(x^{p}\right)^{2} X_{v}^{k}\right)-(u, l, q) x^{k} \delta_{j}^{k}\left(\left(x^{i}\right)^{2} X_{v}^{p}-\left(x^{p}\right)^{2} X_{v}^{i}\right)- \\
& (u, l, q) x^{p} \delta_{j}^{p}\left(\left(x^{k}\right)^{2} X_{v}^{i}-\left(x^{i}\right)^{2} X_{v}^{k}\right)+(i, l, q) x^{u} \delta_{j}^{u}\left(\left(x^{k}\right)^{2} X_{v}^{p}-\left(x^{p}\right)^{2} X_{v}^{k}\right)=0
\end{aligned}
$$

We also have

$$
\begin{aligned}
& R\left(X_{j}^{i} \wedge X_{l}^{k}, X_{q}^{p} \wedge X_{s}^{r}\right) X_{v}^{u}=\nabla_{X_{j}^{i} \wedge X_{l}^{k}} \nabla_{X_{q}^{p} \wedge X_{s}^{r}} X_{v}^{u}-\nabla_{X_{q}^{p} \wedge X_{s}^{r}} \nabla_{X_{j}^{i} \wedge X_{l}^{k}} X_{v}^{u}- \\
& \nabla_{\nabla_{X_{j}^{i} \wedge X_{l}^{k}}\left(X_{q}^{p} \wedge X_{s}^{r}\right)-\nabla_{X_{q}^{p} \wedge \Lambda_{s}^{r}}\left(X_{j}^{i} \wedge X_{l}^{k}\right)} X_{v}^{u}=\nabla_{X_{j}^{i} \wedge X_{l}^{k}}\left(2(u, q, s)\left(\left(x^{p}\right)^{2} X_{v}^{r}-\left(x^{r}\right)^{2} X_{v}^{p}\right)\right)- \\
& \nabla_{X_{q}^{p} \wedge X_{s}^{r}}\left(2(u, j, l)\left(\left(x^{i}\right)^{2} X_{v}^{k}-\left(x^{k}\right)^{2} X_{v}^{i}\right)\right)-\nabla_{\left(2(p, j, l)\left(\left(x^{i}\right)^{2} X_{q}^{k}-\left(x^{k}\right)^{2} X_{q}^{i}\right)\right) \wedge X_{s}^{r}} X_{v}^{u}- \\
& \left.\nabla_{X_{q}^{p} \wedge(2(r, j, l)}\left(\left(x^{i}\right)^{2} X_{s}^{k}-\left(x^{k}\right)^{2} X_{s}^{i}\right)\right) X_{v}^{u}++\nabla_{\left(2(i, q, s)\left(\left(x^{p}\right)^{2} X_{j}^{r}-\left(x^{r}\right)^{2} X_{j}^{p}\right)\right) \wedge X_{l}^{k} X_{v}^{u}+} \\
& \nabla_{X_{j}^{i} \wedge\left(2(k, q, s)\left(\left(x^{p}\right)^{2} X_{l}^{r}-\left(x^{r}\right)^{2} X_{l}^{p}\right)\right)} X_{v}^{u}=2(u, q, s)\left(x^{p}\right)^{2} \nabla_{X_{j}^{i} \wedge X_{l}^{k}} X_{v}^{r}-2(u, q, s)\left(x^{r}\right)^{2} \nabla_{X_{j}^{i} \wedge X_{l}^{k}} X_{v}^{p}- \\
& 2(u, j, l)\left(x^{i}\right)^{2} \nabla_{X_{q}^{p} \wedge X_{s}^{r}} X_{v}^{k}+2(u, j, l)\left(x^{k}\right)^{2} \nabla_{X_{q}^{p} \wedge X_{s}^{r}} X_{v}^{i}-2(p, j, l)\left(x^{i}\right)^{2} \nabla_{X_{q}^{k} \wedge X_{s}^{r}} X_{v}^{u}+ \\
& 2(p, j, l)\left(x^{k}\right)^{2} \nabla_{X_{q}^{i} \wedge X_{s}^{r}} X_{v}^{u}-2(r, j, l)\left(x^{i}\right)^{2} \nabla_{X_{q}^{p} \wedge X_{s}^{k}} X_{v}^{u}+2(r, j, l)\left(x^{k}\right)^{2} \nabla_{X_{q}^{p} \wedge X_{s}^{i}} X_{v}^{u}+ \\
& +2(i, q, s)\left(x^{p}\right)^{2} \nabla_{X_{j}^{r} \wedge X_{l}^{k}} X_{v}^{u}-2(i, q, s)\left(x^{r}\right)^{2} \nabla_{X_{j}^{p} \wedge X_{l}^{k}} X_{v}^{u}+ \\
& 2(k, q, s)\left(x^{p}\right)^{2} \nabla_{X_{j}^{i} \wedge X_{l}^{r}} X_{v}^{u}-2(k, q, s)\left(x^{r}\right)^{2} \nabla_{X_{j}^{i} \wedge X_{l}^{p}} X_{v}^{u}=0,
\end{aligned}
$$

where in the last step we have used the definition of $\nabla$.
Proposition 10. The derived almost Lie vector bundle $E_{0}^{(1)}$ is a Lie algebroid.
Proof. Using Lemma 1 and Theorem 1, the conclusion follows.
We proceed now with the next example, where Theorem 1 can also be used also in the case when $E=E_{1}$ is not a skew symmetric algebroid.

Consider $M=\mathbb{R}^{2 n+1}$ with coordinates $\left\{x^{i}, y^{i}, z\right\}_{i=\overline{1, n}}$ and the vector fields

$$
\begin{equation*}
X_{i}=\frac{\partial}{\partial x^{i}}-y^{i} \frac{\partial}{\partial z}, Y_{i}=\frac{\partial}{\partial y^{i}}, i=\overline{1, n} . \tag{10}
\end{equation*}
$$

Their Lie brackets are given by

$$
\left[X_{i}, Y_{j}\right]=\delta_{i j} \frac{\partial}{\partial z},\left[X_{i}, X_{j}\right]=\left[Y_{i}, Y_{j}\right]=0, i, j=\overline{1, n}
$$

Let $E_{1}$ be the vector bundle generated by $\left\{X_{i}, Y_{j}\right\}_{i, j=\overline{1, n}}$. The anchor $\rho_{1}: E_{1} \rightarrow T \mathbb{R}^{2 n+1}$ is the natural inclusion. The corresponding bracket $[\cdot, \cdot]^{\prime}$ on $E_{1}$ extends the following values on generators:

$$
\left[X_{i}, Y_{j}\right]^{\prime}=\left[X_{i}, X_{j}\right]^{\prime}=\left[Y_{i}, Y_{j}\right]^{\prime}=0, i, j=\overline{1, n}
$$

We consider also the linear $E_{1}$-connection $\nabla$ on $E_{1}$, which extends the following values on generators:

$$
\nabla_{X_{i}} Y_{j}=\nabla_{X_{i}} X_{j}=\nabla_{Y_{i}} Y_{j}=0, i, j=\overline{1, n} .
$$

Notice that $\mathcal{D}^{\prime}\left(X_{i}, Y_{j}\right)=\left[\rho_{1}\left(X_{i}\right), \rho_{1}\left(Y_{j}\right)\right]-\rho_{1}\left(\left[X_{i}, Y_{j}\right]^{\prime}\right)=\left[X_{i}, Y_{j}\right]=\delta_{i j} \frac{\partial}{\partial z}$; thus, $\left(E_{1}, \rho_{1},[\cdot, \cdot]^{\prime}\right)$ is not a skew symmetric algebroid and the curvature $R$ is not $\mathcal{F}\left(\mathbb{R}^{2 n+1}\right)$ linear in all arguments.

Proposition 11. The derived almost Lie vector bundle $E_{1}^{(1)}$ is a Lie algebroid.
Proof. Let us denote by $\rho^{\prime \prime}$ and $[\cdot, \cdot]^{\prime \prime}$ the anchor and the bracket on $E^{\prime \prime}=E_{1}^{(1)}$, respectively.
For this anchor, we have $\rho^{\prime \prime}\left(X_{i}\right)=X_{i}, \rho^{\prime \prime}\left(Y_{i}\right)=Y_{i}, \rho^{\prime \prime}\left(X_{i} \wedge X_{j}\right)=\rho^{\prime \prime}\left(Y_{i} \wedge Y_{j}\right)=0$, $\rho^{\prime \prime}\left(X_{i} \wedge Y_{j}\right)=\delta_{i j} \frac{\partial}{\partial z}$. The corresponding bracket gives:

$$
\left[X_{i}, Y_{j}\right]^{\prime \prime}=X_{i} \wedge Y_{j},\left[X_{i}, X_{j}\right]^{\prime \prime}=X_{i} \wedge X_{j},\left[Y_{i}, Y_{j}\right]^{\prime \prime}=Y_{i} \wedge Y_{j}, i, j=\overline{1, n}
$$

and the other brackets that involve generators

$$
\begin{equation*}
\left\{X_{i}, Y_{j}, X_{i} \wedge Y_{j}, X_{i} \wedge X_{j}, Y_{i} \wedge Y_{j}\right\} \tag{11}
\end{equation*}
$$

vanish.
Considering $\mathcal{D}^{\prime \prime}(U, V)=\left[\rho^{\prime \prime}(U), \rho^{\prime \prime}(V)\right]-\rho^{\prime \prime}\left([U, V]^{\prime \prime}\right),(\forall) U, V \in \Gamma\left(E^{\prime \prime}\right)$, one can check on the generators (11) that $\mathcal{D}^{\prime \prime}=0$; thus, $E^{\prime \prime}$ is a skew symmetric algebroid. Since both extended curvatures vanish on generators, by using Theorem 1 , it follows that $E^{\prime \prime}=E_{1}^{(1)}$ is a Lie algebroid.

## 5. Conclusions

A new construction providing Lie algebroids is considered in the paper.
Some relaxed conditions in the Lie algebroid definition give rise to other kinds of structures. For a general almost Lie vector bundle, the Jacobiator can be non-null or nonlinear. In this paper, we consider the derived almost Lie vector bundle $E^{(1)}$ of a given almost Lie vector bundle $E$, and we define two extended curvatures of a given linear $E$-connection $\nabla$ with null torsion. We prove that if these two extended curvatures vanish, then $E^{(1)}$ is a Lie algebroid. Two given examples show that the result can be applied not only when $E$ is a skew-symmetric algebroid, but also when $E$ is not.

Author Contributions: Both authors contributed equally to this work. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.
Institutional Review Board Statement: Not applicable.
Informed Consent Statement: Not applicable.
Data Availability Statement: Not applicable.
Conflicts of Interest: The authors declares no conflict of interest.

## References

1. Fernandes, R.L. Lie algebroids, holonomy and characteristic classes. Adv. Math. 2002, 170, 119-179. [CrossRef]
2. Mackenzie, K. General Theory of Lie Groupoids and Lie Algebroids; Cambridge University Press: London, UK, 2005.
3. Marle, C.-M. Differential calculus on a Lie algebroid and Poisson manifolds. arXiv 2008, arXiv:0804.2451v2.
4. Pradines, J. Théorie de Lie pour les groupoïdes dif́ férentiables. Calcul différentiel dans la catégorie des groupoïdes infinitésimaux. C. R. Acad. Sci. Paris 1967, 264, 245-248.
5. Grabowski, J. Brackets. Int. J. Geom. Methods Mod. Phys. 2013, 10, 1360001. [CrossRef]
6. Balcerzak, B. Symmetric brackets induced by connections with totally skew-symmetric torsion on skew-symmetric algebroids. arXiv 2020, arXiv:2001.07390.
7. Grabowski, J.; Khudaverdyan, D.; Poncin, N. The supergeometry of Loday algebroids. arXiv 2011, arXiv:1103.5852.
8. Grabowski, J.; Jóźwikowski, M. Pontryagin maximum principle on almost Lie algebroids. SIAM J. Control Optim. 2011, 49, 1306-1357. [CrossRef]
9. Grabowska, K.; Grabowski, J. Dirac algebroids in Lagrangian and Hamiltonian mechanics. J. Geom. Phys. 2011, 61, 2233-2253. [CrossRef]
10. Popescu, M.; Popescu, P. Almost Lie algebroids and characteristic classes. SIGMA 2019, 15, 021. [CrossRef]
11. Popescu, P. Poisson structures on almost complex Lie algebroids. Int. J. Geom. Methods Mod. Phys. 2014, 11, 1450069. [CrossRef]
12. Popescu, P. Categories of modules with differentials. J. Algebra 1996, 185, 50-73. [CrossRef]
13. Anastasiei, M. Banach Lie algebroids and Dirac structures. Balk. J. Geom. Appl. 2013, 18, 1-11.
14. Anastasiei, M.; Sandovici, A. Banach Dirac bundles. Int. J. Geom. Methods Mod. Phys. 2013, 10, 1350033. [CrossRef]
15. Cabau, P.; Pelletier, F. Almost Lie structures on an anchored Banach bundle. J. Geom. Phys. 2012, 62, 2147-2169. [CrossRef]
16. Vulcu, V.-A. Dirac Structures on Banach Lie Algebroids. An. Stiintifice Univ. Ovidius Constanta 2014, 22, 219-228. [CrossRef]
17. Popescu, P. On the geometry of relative tangent spaces. Rev. Roum. Math. Pures Appl. 1992, 37, 727-733.
18. Popescu, P. Popescu M. Anchored vector bundles and Lie algebroids. Banach Cent. Publ. 2000, 54, 51-69. [CrossRef]
19. Popescu, P. Almost Lie structures, derivations and R-curvature on relative tangent spaces. Rev. Roum. Math. Pures Appl. 1992, 37, 779-789.
20. Popescu, M.; Popescu, P. Geometric objects defined by almost Lie structures. Banach Cent. Publ. 2000, 54, 217-233. [CrossRef]
21. Da Silva, A.C.; Weinstein, A. Geometric Models for Noncommutative Algebras; AMS: Berkeley, CA, USA, 1999; Volume 10.
